Find the points of intersection
of the graphs of the equations:
r={+cos® r=1-cosO

(3/2, 1r/B) (3/2, atr/b)
(0, 0)



H.
Find the length of the curve

r =1+ sin® over the interval
0<0<Zm

(L. w/2) (1, 3m/2) (0, 0)



* Find the points of intersection
of the graphs of the equations:
r=1+cos®@ r=1-sin0




B.
Find the length of the curve

r = 8(l + cosO) over the interval
0<0<ZTm

(1-12 /2, 3m/4) (1+]2 /2, Trr/4)
(0, 0)



F

*Find the points of intersection
of the graphs of the equations:

r=0/2 r=12

b4



| Find the length of the curve
r = 20 over the interval

0<0<11/2

(Z,4) &(2,-4)



b

Find the points of intersection
of the graphs of the equations:

r=4sin@ r=12

4.1a8



|

| Find the points of intersection
of the graphs of the equations:

r=4-3sin® r=3J3sin6

(2, w/12) (2, a1r/12)
(2, T1r/12), (2, 1 /12), (2, 1311/12)
(2, 171/12) (2, 1977/12) (2, 2311/12)



